05 Linix) 717 C

651 2517| [DER A% Ly

re

39.5ms 8mM ZEtA 2|23 USH TS = U= 2l= et = 89f ZOoIE oML

DS X[I4IR[QE JISICE
4 4
8)39.5 8)39.5 o AJHE OIS 4 Q1
32 s
75 5

@ 2221 LK F0ICL
» & 292mE 3m¥ ZEtM 2= UEH TS+ m 2 853mZ Sm¥ kM 2|ES OIS IS &
U 2I2 et H= 2| ZOIE L. U= 2lE et HE T2 ZOIE 5.
= Ct
H H
m & 89.7mE 15mM FEN Zl2S TS ThE m 1 560.2mE 25mH REtM Z|ES O s 4
U= 2l2 et H= 22| ZOIE oM. U= 2l et H= 2| ZOIE B2
= Ct
H =

TTASI0{TIA

ZRAB10171A L 222 0[R8He X548t 2HX| FOR ALLkr



	6-2-2 소수의 나눗셈 05 나머지 구하기 문제



